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Himachal Pradesh Administrative Service Combined Competitive (Main / 

Written) Examination, 2020 

                                       (     /      )      , 2020 

 SOCIOLOGY (PAPER-II)   

         (    -II)        

Time allowed: Three Hours             Maximum Marks: 100 

         समय:     घंटे                         अंक: 100 

QUESTION PAPER SPECIFIC INSTRUCTIONS 

                          

Please read each of the following instructions carefully before attempting questions. 

                                                          । 

1. There are EIGHT questions printed both in English & Hindi.   

     आठ                 औ                      । 

2. Candidate has to attempt FIVE questions in all in English or Hindi. 

                                                          । 

3. Question No.1 is compulsory. Out of the remaining SEVEN questions, FOUR are to be 

attempted.   

         1           ।                                        ।    

4.  All questions carry equal marks. The number of marks carried by a question / part is 

indicated against it. 

                       ।          /                                     । 

5. Write answer in legible handwriting. Each part of the question must be answered in sequence 

and in the same continuation. 

                        । प्रश्न के प्रत्येक भाग का उत्तर उसी क्रम में दिया जाना चाहिए। 

6. Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a 

question shall be counted even if attempted partly. Any page or portion of the page left 

blank in answer book must be clearly struck off. 

                                       । आ                                   

                                       ।                                         :     

      । 

7.  Re-evaluation / Re-checking of answer book of the candidate is not allowed.  

          की उत्तरपुहतिका    पुनममूलयांकन / पुन: जााँच                 । 
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1. How do you look at the issue of ''Minority''? Discuss the violence and discrimination 

against religious minorities in India.            (10+10) 

vYila[;d eqnns dks vki dSls ns[krs gSa\ Hkkjr eas /kkfeZd vYila[;dksa ds izfr fgalk vkSj 

HksnHkko ij ppkZ dhft,A 

2. Critically evaluate the impact of liberalization, privatization and globalization on the 

working class in India.                                                                                                     (20) 

Hkkjr esa dkexkj oxZ ij mnkjhdj.k] futhdj.k vkSj oS'ohdj.k ds dkj.k iM+us okys izHkkoksa dk 

vkykspukRed ewY;kdu dhft,A 

3. The last decade has witnessed an increase in the cases of violence against women in 

public sphere. Comment on it.                            (20) 

fiNys n'kd eas lkoZtfud {ks= esa efgykvksa ds fo:) fgalk ds ekeyksa esa o`f) ns[kh xbZ gSA bl 

ij fVIi.kh dhft,A 

4. Analyse the inter-linkages between poverty, deprivation and inequality.                      (20) 

fu/kZurk] oapuk rFkk vlekurk ds e/; varlZEcU/kksa dk fo'ys"k.k dhft,A 

5. Discuss the problems of elderly in India. What can be done to mitigate them?       (10+10) 

Hkkjr eas o`)tuksa dh leL;kvksa ij ppkZ dhft,A mUgas de djus ds fy, D;k mik; fd;s tk 

ldrs gSaA 

6. Write a note on the challenge faced by agrarian class in India? Why are the farmers 

opposing the newly passed agriculture laws?                         (10+10) 

Hkkjr esa d`"kd oxZ }kjk lkeuk dh tkus okyh pqukSfr;ksa ij fVIi.kh fy[ksa\ fdlku uoikfjr 

d`f"k dkuwuksa dk fojks/k D;ksa dj jgs gSa\ 

7.  Social engineering has become an important tool for political parties. Discuss the merits 

and demerits of the use of Social engineering in national politics.                      (10+10) 

lks'ky bathfu;fjx jktuSfrd nyksa ds fy, ,d egRoiw.kZ midj.k cu x;k gSA jk"V  h; jktuhfr 

esa lks'ky bathfu;fjx ds iz;ksx ds ykHk ,oa gkfu dh ppkZ dhft,A 

8.  What do you understand by inter generational gap? Do you agree that intergenerational 

conflict is increasing due to advancement of technology? Give examples to support your 

answer.                                                           (5+10+5) 

varj&ih<hxr varj ls vki D;k le>rs gSa\ D;k vki blls lger gSa fd izks|ksfxdh eas izksUufr 

ds dkj.k varj&ih<+hxr la?k"kZ c<+ jgs gSa\ vius mÙkj ds leFkZu eaaas mnkgj.k nsaA 


